


DELTA POWER FLOW DIVIDER

Delta Power

Qi=Q1+Q2+....+Qn
Qi Q1Q2....0n

Pi Qi=P1 Q1+P2 Q2+....+Pn Qn
Pi P1P2....Pn

Pi= P1Qi1+P2Q2+....+4PnQn /Qi

Pp n
AP~ 6Qfn +25
Pia
Pia= P1Qi+P2 Qo+....4+Pn Qn / Qi+A Py



DELTA POWER FLOW DIVIDER /

/1 [ 10.7Mpa /
PM2 0.00178 0.11 6.5
PM6 0.0052 0.15 18
P21 0.0067 0.23 23.5
P23 0.0115 0.26 39.7
P25 0.016 0.3 56.8
P26 0.02 0.38 70
P27 0.024 0.42 83.3
P43 0.039 0.57 132.5
P47 0.064 0.83 189.3

AP~ 6Q/n +25

Pia= P1Qi+P2 Qx+....+Pn Qn [/ Qi+A Py
A P]_A PZ....A Pn A Pn: Pia‘ Pn

Qna=Qn+Sn



